Course Code : 4BCOM3

Course: Title: Management Accounting

Credit: 3

Assignment No. :

Maximum Marks : April 30 ( for January Session)
October 31, ( for July session )

Max.Marks:-30
Min.Marks:-10

Note:-attempt all questions.

1. What do you understand by management accounting? Explain its importance and need.
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2. The balance sheet of R.G. Ltd as at 31°" march, 2010 was as under.

31 W9 2010 I IR fafics &1 feer e om—

Liabilities Amount Assets Amount
Share capital 2,00,000 Good will 1,20,000
Reserve & Surplus 58,000 Plant & machinery | 1,50,000
Debtors 1,00,000 Stock 80,000
Creditors 40,000 Debtors 45,000
Bills payable 20,000 Cash in hand 17000
Other current liabilities | 2000 Cash in Bank 8000
4,20,000
Sales for the year (EFGIC H ﬁif?f) 400000
Cost of Sales (fdsh! @1 @R Ta) 2,40,000

You are required to calculate the following ratios

(a) Current ratio (dTc] 317UTq)

(b) Quick ratio (ARl 1Y)

(c) Inventory ratio (Fb_*%T &jcﬂ?f)

(d) Average collection ratio (Sﬁ?zlﬁ Zl?ﬁ 31‘4‘@[)

3. A foreign Customer is interested in the product but he is willing to
busy only 5000 units and that too at a price of Rs18 Per unit. Do your
advise to firm to accept the order.
U facell UTed 99 9 H WY of @1 § olfdb 98 dadl 5000
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Define “ Budget” and Budgeting. Discuss its utility and limitations.
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Prepare funds flow statement:-

Liabilities 2009 2008 Assets 2009 2008
Capital 5000 4000 Land 6000 8000
Retained 6,000 3420 Buildings 4000 4000
General Reserve 4200 3180 Furniture 3000 5000
Loan 4000 6400 Current Assets

Accumulated Stock 4000 2000
Depreciation 1200 900 Cash 6000 620
Current Liabilities 7000 6,720 | Debtors 4,400 5000

27,400 | 24,620 27,400 24,620

Additional information:-

SifrRe a-Tg—

(i) There was an issue of bonus share of Rs 1000
1000%. BT 9T 3feM BT i o

(i) Land was purchased costing Rs 3500

2500% &I ARTT BT YA HT & 7S |

(iii) Furniture costing Rs 2000 with accumulated depreciation Rs 700

was sold for Rs 1000

2000%. B SINTd BT BreR 9 TR Ghfeld R 700%. T |

1000 . H 9T 747 |
(iv) Payment of dividend Rs 500, taxes Rs 350
RIGINEG! YA 500%, PX 350 0.
You are given the following data:-
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Rs




Sales 5,00,000

Variable cost 3,75,000
Contribution
Fixed overheads 1,25,000
37,500
Profit 87,500

Calculate the following-
=1 @ T PR
(i) P/Vratio — (ST HIFT IIUId)
(i) Break-even point —(IcdTG T &R ﬁ*_g)
(iii) Net profit from the sales of Rs 7,00,000
(700000% &I a4l I I[g ™)
(iv) Margin of safty when profit is Rs 1,12,500
(GRET—S<UTE g @™ 1,12,500% & |)
(v) Required sales to earn a profit of Rs 1,00,000
(1,00,000%. @ AT DI 3fSid R Bg, Sied fdeh)
(vi) Profit when margin of safety is Rs. 4,00,000
ST ST9 ReT—SUT=T 400000 %. 2T |




